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R ome | BT e | B2 | e | e | B2 | B R e | B2 | T | & |
’ 100kN/mM%#BZ 5 -l -~ = -|3mZEi#BZ5 = ~ = = —| 100kN/mM#%#8% % = -~ = —-|3m%xHZ5 -~ = = =
s 1.00]0.00 ~ 5.01 62.39] =hLls |000 ~ 501| 1.60 8.10 Lo 1.00] 500 ~ 5.55 62.39] =nLst | 500 ~ 555 1.60 8.10]
9 100kN/mM##B %% 1.00{0.00 ~ 227 135.42| 3m%x %% = Kad = = —| 100kN/mM%Z#BZ % 1.00] 10.62 ~ 20.75 135.42| 3m%#BZ % =l ~ = = =
s 1.00] 2.27 ~ 10.06 100.00f Z=h st | 0.00 ~ 10.06] 2.63 13.28 Lo 1.00] 5.00 ~ 10.62 100.00| =hList | 500 ~ 20.75| 2.63 13.28
3 100kN/mM##8 %% 1.00{0.00 ~ 294 146.63| 3m%x %5 = Kad = = —| 100kN/mM%Z#BZ % 1.00] 10.56 ~ 24.99 146.63| 3m%#BZ % =l ~ = = =
s 1.00]2.94 ~ 10.72 100.00f Z=h 4+ |0.00 ~ 10.72] 2.76 13.93 Lo 1.00] 5.00 ~ 10.56 100.00| ZhList | 500 ~ 24.99| 276 13.93
4 100kN/mM##8 %% 1.00{0.00 ~ 3.74 160.66|3m%#%5(0.00 ~ 146 3.73 18.87| 100kN/m#%#BZ.% 1.00] 10.57 ~ 41.47 160.66[ 3m%x# x5 25.00 ~ 41.47| 3.73 18.87
s 1.00]3.74 ~ 1152 100.00f Zh st |1.46 ~ 11.52] 3.00 15.16 s 1.00] 5.00 ~ 10.57 100.00| =hList | 500 ~ 25.00| 3.00 15.16
5 100kN/m##8 %% 1.00{0.00 ~ 3.84 162.55|3m%x##%%[0.00 ~ 159 3.83 19.38| 100kN/m#%#BZ% 1.00] 10.73 ~ 42.39 162.55|3m%x# x5 25.00 ~ 4239 3.83 19.38
s 1.00]3.84 ~ 11.63 100.00f Zh st |1.59 ~ 11.63] 3.00 15.16 s 1.00] 5.00 ~ 10.73 100.00| =hList | 500 ~ 25.00| 3.00 15.16
6 100kN/m##8 %% 1.00]0.00 ~ 3.11 149.60| 3m#*# %%/ 0.00 ~ 0.57| 3.36 16.96| 100kN/m#%#BZ% 1.00] 11.39 ~ 28.00 149.60[ 3m%x# x5 25.00 ~ 28.00( 3.36 16.96
L 1.00{ 3.11 ~ 10.90 100.00f Z=h st | 0.57 ~ 10.90| 3.00 15.16 Lo 1.00] 5.00 ~ 11.39 100.00| =hList | 500 ~ 25.00| 3.00 15.16
7 100kN/m##B %% 1.00{ 0.00 ~ 148 122.59| 3m%*#BZx % = Kad = = —| 100kN/mM%Z#BZ % 1.00] 10.72 ~ 15.54 122.59| 3m%#BZ % =l ~ = = =
Lt 1.00]1.48 ~ 9.27 100.00f =1 A4t |0.00 ~ 9.27| 248 12.55 st 1.00] 5.00 ~ 10.72 100.00| =nlist | 500 ~ 15.54| 248 12.55
8 100kN/ Mm% X % 1.00{0.00 ~ 0.05 100.69| 3m%E#E 25 =1 ~ = = —| 100kN/mM%#BZ % 1.00] 11.01 ~ 11.13 100.69| 3m%EHEZ 5 .l ~ - - =
Zh st 1.00{0.05 ~ 7.83 100.00f =1lA4t+ |0.00 ~ 7.83] 2.35 11.87 st 1.00] 5.00 ~ 11.01 100.00| =hlist | 500 ~ 11.13] 2.35 11.87
100kN/MZ#8 2 % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhs ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhst ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhst ~ ZhLst ~ st ~
100kN/mMZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ Lot ~ st ~
100kN/MZ#8Z % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ ZhLst ~ ZhLst ~
100kN/mM%#8 2 % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zh st ~ ZhLst ~ ZhLst ~ |
BEFR



